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QUESTION 1

Which of the following statements are true regarding proxy authorization? (Choose 2) 

A. set proxy is only permitted at one level 

B. set proxy can be executed within a transaction 

C. proxy authorization is granted by the System Administrator 

D. set proxy can be executed in a database with a guest user 

E. set proxy within a procedure retains the identity of the proxy when you exit 

Correct Answer: AD 

 

QUESTION 2

represents the average amount of repeated data in a column. 

A. Cluster ratio 

B. Total density 

C. Histogram weight 

D. RangeselectivityX 

Correct Answer: B 

 

QUESTION 3

What is the command used to dynamically increase the size of a database device? 

A. diskinit. 

B. diskreinit. 

C. diskresizE. 

D. alterdatabasE. 

Correct Answer: C 

 

QUESTION 4

Which of the following configuration parameters affect the amount of memory required per user connection? (Choose 2) 

A. user log cache size 
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B. heap memory per user 

C. number of open objects 

D. max network packet size 

E. default network packet size 

Correct Answer: AE 

 

QUESTION 5

What will be the result if the \\'disk init\\' command is run to create a database device and no"vdevno" is specified? 

A. The command will fail but the operating system file will be created 

B. The command will create the device with avdevno assigned by the server 

C. The command will fail without any adverse affects to the server 

D. The command will function properly because the server no longer uses \\'vdevno\\' 

Correct Answer: B 
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